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___ Given the logic diagram below, what is the value of the outputs fand g whenx =1,y =0,

andz=12

_ Ex—¢ o o

— \z

S a. f=0,g=0
— b. f=0,g=1
— c. f=1,g=0
7 d. f=1,g=1
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The decimal value (-9)0 is represented in binary as (110110), when the representation

system is:

- a. Unsigned system

b. Signed 2's complement system
c. Signed 1's complement system

d. Signed-magnitude system

ls Comf

Which of the following is the gray code for the value successive with the binary value

11007 gregGada  \Lo© P ?/7 Code

\0
N a. 0001 1o

— b. 0101

— c. None

— d. 1011 —

Write an algebraic expression for the Boolean function F(X, Y, Z) =[1(0, 3, 5, 7) as a sum-of-

interns. =
minterms ic\,li\‘l")
Q. XYIHXYIAXYT XY 7(\\/\? N 7‘\7?; + )‘7\7: + )(\/3\
b, 31,24, -

—] c. XYZ' +X'YI' +XY'Z' +XY'T'

d. X'Y'Z+XYI' +XYZ' +XY'Z' v

Which of the following canonical forms represents the complement of the Boolean function

f(a,b,c) =ab+a’b’ +b'c?

alb| c
B a. [1(2, 4) ab “ . o/ 7./6
— b 567 bt o [0 |et] o/
— e Y24 ve |dijo |! 9/|

— | d. 2(0,1,5,6,7)

- 2(0,1)5)51 7')
= (2'3"0
= -rr(ol llg/ AI‘;)
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What is the 13's complement of (B30),32

Qb (B360) + |

a. 190 = \

b. 1A0 = Va4 + !
c. 19C \ A (o)
d. 1AC

Given the following Boolean functions F and G:

X Y. 2=50.4 6 — ¢ = £(L2»5,7) f% ;\.G: (%6,?)

G Y,D=11(,36 _, G=5 (0001157

Express the function F' - G as a sum- sum-of-minterms.

— as aproM«l//(QX terms.

o

St L, T(5)

2(0,1,2,3,4,5,7)

o

o

2(1.2,3,5,6,7)

d. Y(2 4)

Using Boolean Algebraic manipulations, the Boolean function F(X, Y, Z) = X’(Y’' + Z) + XZ can

be simplified to F = X'Y’ + Z. This is achieved using which of the following sequences of

— theorems? @d,,'blyl'bw(n'w Y + A2 + T
— @ SsHA i z’( 1\*)()
a. Distribution, Simplification, and then Absorption 7
b. Distribution, Distribution, Complement, and then IdenhN/ )(\7 Z - ‘
c. Distribution, Complement, and then Identity - 7( 7 A ’&
d. Distribution, and then Consensus \X

— Insigned 1's complement representation with 3-bits, what is the largest positive number

Ve -
Carry out the following conversion (17.1)s = (2 )4

R_, 10 —=4 . ‘x

a. 3301 \ : “‘—' °-tasxqlosae
_ | e c $1~7'+8*\‘\-8x o3 o-SX Y |0
. None 2424 Jé
CHRIHNPS lgmg
= 3.0l
d. 33.020 3

that can be added to (-1) without causing an overflow?

|
D

gl
T —

T e s @&)’5 \.Q) MSSO \936\ .

. \ bit m?b»’ros \)5 S\o
(o 72 6\\1—.\}5 @

— o Comy  She==o
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Given the following é-bit signed numbers:
A=(011011),
B=(110110),

The result and overflow when computing A + B using the 2's complement arithmetic are:

R

“ a. 010001, No overflow | — FEL Oy

Lo\
b. 1010001, Overflow :

01003 >\

c. 010010, No overflow
~ d. 010001, Overflow

Using algeloraic manipulations Simpliy the following expression fo @ minimf number

A+ A'B+ B’

Ly B—‘r%\
= 4

Select one:

a
b. A’

(ol o]
e
@™

Find the complement of the function in minterm list form:

F(xy.z2) = X'y + yz+ xz’

“a [[01367) B Vo —s 11,5
- b []ase)

" Slousy

€. None
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fement of knscm o

- )

_ Ta [0234547)
b. ¥(1,23,4,5¢, 7)

9,0,

C. A¥B+C

e. A'+8'+C’

——— Perform the following operation (101101)» - {110110), = i -bit 2" -
\o(lEJOl )2 \0)\2ol&)é, using 6-bit 2's complerJent representa

| o\oo (O

\

°\°°‘| a.g'\o\‘D

— 100011 \6r 3219 —\0
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52) What is the output of the following circuit?

a.AB Ql B)@(A+B)

b. A+B

c. AB'+AB

d. AB+AB'

ek (\AB) =d yed

ud' + Ay

[et (14—\—@) — ol / (;B)(ﬂ‘;‘) » (AR)(A+8)

= fb,r/aﬁ,?\- ﬂg—\—gﬁ\« M
- 7

— g tde X

51) The shown circuit can be implemented using a minimum of : MA A/D

ﬂ
— a.3 NAND Gates gD‘L
b. 4 NAND Gates

c. 5 NAND Gates % NAND
d. 4 NAND Gates and 1 NOR Gate \, NVAND

- NAND
N
)
F-5(0,2.54)
G— ’I_/) 3 5)7‘\ = gf( O)% ‘f;é)
G =9( \ 1<7\

b @ :?‘(’Q‘l,‘:)') ]
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